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9 KIFFEMBHELEESHF
T B OB % 4,208,000
i) 3,308,000
woIE 900,000
1) NG/ - S 4,132,188
14 B s A75,812
1% A =R 98.2

—116—




W PEUA

(25]

H %%ﬁ%ﬁmuﬂ)\iﬁﬁmﬁ&ﬁ %A uy)\?/;
i g A # HE B
M. %
A Txt 3 B IEAER] T 4,132, 188
10 EEMIRBEESFF
T B OB % 5,000
1) NS - S 4,290
4 W AT10
1z A =R 85.8
HANTXIT B AR T 4, 290
11 ERREERRESHF
T B OB # 502,000
W) 3,252,000
wWoOIE A2,750,000
I A ¥ # 478,483
4 Tk %A A23,517
% A x 95.3
A Txt 3 B IEAER] T 478, 483
12 B Ls
T B OB % 3,600,000
1) NS - S 4,722,900
b= - A | 1,122,900
12 A =R 131.2
PRAKERITIR DB Y 4 4,722,900
[BR> = o1 =2 2 H]
%2 IH  MPEFRHLIA
L VI ' SN 37,314,000 38,970,635 1,656,635 104.4
Fm5E AR A
¥ & O oz 37,314,000
i) 41,272,000
woIE 3,958,000
1) NG/ - S 38,970,635
4 B A 1,656,635
1% A =R 104.4
Wy e EA N 38, 970, 635
VA 7t 2 —RRFEEOFINHE S 24 20, 580, 010
[120, 6564]
TR EL I OB ANC 5 Te 4 4, 663, 440
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[7.85m]

H T H OH M . S N o oW #E MA%
i g A # HE B
M. %
WL5y B ERELE D BRI LE 5 7B HM4E 4,322, 485
EEIN: 4,190, 411
[2, 150%]
JRENS A B iR 132, 074
[247&]
FIERIRBE AT GBI Y OTEHENHE ) Teih 4 1, 556, 520
[9, 1564]
SULZEZMATEFZE IR D AGFOFEANTLE S sei 4 7, 178, 000
[383])
SNHWFEREIFY OFBANAE S BI04 619, 980
[2,572&]
FFEBEOFZHNEE S FBHE 35, 200
(2]
Ty TTA4 NET ) OFEANIEE S sEi 4 15, 000
[17]
2 A~ @ opE O F O O A 12,455,000 12,985,428 530,428 104.3
1 AEIESTILINA
T R OB # 12,455,000
w4 57,092,000
wWoOIE A\44,637,000
I A ¥ # 12,985,428
be B A 530,428
1% A B 104.3
ARENFEEFEFLA 12, 985, 428
FEREH 8, 501, 550
[18.05nt)
XA Hh s 3, 954, 003
[+ 10.92ni. B4 496.80ni)
E ) HEE ST ENN AT S 529, 875
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B 16 X FHf4

A H
T H OB M W A ¥ H oW AR
#* 1
] 5 ] %
16 % £t 4 61,216,000 68,645,014 7,429,014 112.1
1 % fF 4 61,216,000 68,645,014 7,429,014 112.1
H T H OB M [ SN Mm% uy)\%f/
i I A & 1% B
%1 e
1 — i - £F 4 12,166,000 13,306,311 1,140,311 109.4
M. %
1 —iBFHE
T B OB # 12,166,000
)| 1,000
WO 12,165,000
I A ¥ # 13,306,311
4 B A 1,140,311
% A B 109.4
— I A4 13, 306, 311
[2914]
2 5 E % ¥ 4 49,050,000 55,338,703 6,288,703 112.8
1 EBESFHE
Y H Bl # 49,050,000
i) 8,900,000
woIE 40,150,000
1) NG/ - S 55,338,703
4 B A 6,288,703
1% A =R 112.8
e e 4 55, 338, 703
B EN BEFELIRESDT=D DFS4 27,701, 208
[3234]
R KB DFE R &I B OEFRIEAD =D D% 4 11, 403, 000
[114]
DENTRERFELDOELE X2 57D 0FNN4E 5,122, 008
[of4]
T 55K Y DIODEN 4 4,900, 000
[114]
ANbEW L = AEE oND EBLEADTD DA 4 2,521, 000
[166f4]
HE A B O ERHEE D 7= 6D D ZfF 4> 804, 500
[114]
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H T H OB O . X A % # 1 Tk #H . MA%
i Y A 75 1 B2
M. %

PEIRBL D 1= b DFAT 4 500, 000
[114]

fE EF AR D 72 6D D EA1 4 359, 281
[814]

X EAE Y — B RDFREDTZD D4 308, 000
[of4]

RWIT T T OFELT-bDImDDEN 4 300, 000
[114]

BB D T D D ET 4 262, 000
[10f4]

ERHEEE D 7= D D T4 210, 000
[1414]

FETCHEOT-DDESE 132, 244
[814]

D&V BFIE R D T2 D4 125, 462
[414]

77T A FREEHE R AR DT O A 125, 000
[114]

WEOE LRS- LD DR T4 120, 000
[of4]

KR FE TR AR 5 D 72 D D F A 4 100, 000
[114]

BEEDH 5 REDT- DD LS4 100, 000
[114]

B =/ NER D T2 D D FANT 4 100, 000
[114]

ARG R &5t O B HE S R O 72 9 D %4 55, 000
[314]

W EE DT D DE,T 4 30, 000
[114]

Pl oo A L RFEGYERIR DO AR D 72D O+ 4 26, 000
[414]

2= N—Y TP L OHERED - D D EA 4> 24, 000
[314]

20 FDOLRDRIFERD =D D4 10, 000
[114]
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BT R MAE F YN
A H
T H OB M W A ¥ H oW AR
xR 15
M 5 ] %
17 A 4 11,396,256,000 4,945,127,600 A\6,451,128,400 43.4
1t = F B A & 17,362,000 18,436,600 1,074,600 106.2
2 & B AN & 11,378,894,000 4,926,691,000 A\6,452,203,000 43.3
H T H OH M [ SN Hoow % Jw\%f/
i I A & 1 B
%1 H hEEHEASE
1 & FH OB A & 17,362,000 18,436,600 1,074,600 106.2
M. %
1 hEitHgEAS
T B OB # 17,362,000
w4 12,326,000
wWoOIE 5,036,000
I A ¥ # 18,436,600
4 B A 1,074,600
% A B 106.2
(SIS R RS W) - YN 18, 436, 600
B2 H KBS
1 & o ®E & B A & 60,502,000 51,412,000 A\9,090,000 85.0
1 BUEEEAS
Y H OBl # 60,502,000
i) 64,063,000
woIE 3,561,000
1) NS/ - S 51,412,000
4 Pk % /A9,090,000
1% A =R 85.0
LT e YN 51,412, 000
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H T A OB @ S N SIS - A MA%
i I A & 1 B
2 M OB OB E A B AL 6,556,781,000 3,200,000,000 A\3,356,781,000 48.8
M. %
1 MBGRABREEBRAS
Y H Bl # 6,556,781,000
i) 5,320,000,000
i IE 1,236,781,000
11O NG/ - S 3,200,000,000
14 B s A\3,356,781,000
1% A =R 48.8
AR i N 3, 200, 000, 000
3 W OE OE & BOA £ 1,190,700,000 1,190,700,000 0 100
1 BEEEEAE
Y H OBl # 1,190,700,000
1) NS - S 1,190,700,000
4 B A 0
12 A =R 100
ARt NG 1, 190, 700, 000
4 HEDVEBTLREERANSE 6,000,000 6,250,000 250,000 104.2
1 #EYEZEOEERAS
Y H OBl # 6,000,000
1) NG - S 6,250,000
b= - A | 250,000
12 A =R 104.2
HED B EFLESRAS 6, 250, 000
b ERBEEEEELHE AL 3,564,911,000 478,329,000 A\3,086,582,000 13.4

| ERRREREERAS

T OB
E)
fIE

W AW

B

WA

R BR TR 2 e A

#

#
#

3,564,911,000
3,558,745,000
6,166,000
478,329,000
A\3,086,582,000
13.4

478, 329, 000
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%18 B s Ao 4
£ H
T R OB % A B O 14 T #H XA
xR A
] 5 %
18 s 4 5,553,221,050 5,553,221,862 812 100.0
1 ey 4 5,553,221,050 5,553,221,862 812 100.0
H T H OB O I A % # b 5 #H HX)\?E/
i Y A 1 G2
%1 IE s
1 M i 4 5,553,221,050 5,553,221,862 812 100.0
M. %
1 #&HEE
T B OB # 5,553,221,050
) 2,000,000,000
wWoOE 3,113,993,000
W I 2 439,228,050
I A % % 5,553,221,862
4 Pk % 812
1% A =R 100.0
HITAEEE D B Dl 4 5, 553, 221, 862
— J flll 5,070, 663, 812
FEE 43, 330, 000
MR A 439, 228, 050
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%19 FOFEIA
P H
T H OB M W A ¥ H B % AR
#* H
2] 1 2] %
19 3 g A 5,637,451,000 5,705,142,940 67,691,940 101.2
1 WA R A kOl ok 113,686,000 104,345,015 9,340,985 91.8
2 f B XK oW & A T 3,000 0 A3,000 0
3 M & ;& R oI A 1,017,429,000 1,013,233,839 A4,195,161 99.6
4 % F OF X I A 680,901,000 676,400,948 4,500,052 99.3
5 00 & OF O OE I A 500,000,000 500,000,000 0 100
6 M A 3,325,432,000 3,411,163,138 85,731,138 102.6
H T H OH M QNS S 1 H®oow % uy)\};/
i I A & 1% i
%1 IE ERAINE A K ONEE
1 I S & 113,685,000 104,182,615 A\9,502,385 91.6
M. %
1 EwEE
T B OB # 113,685,000
I AN ¥ #E 104,182,615
H Tk %H 9,502,385
1% A 2253 91.6
WX B AR D D IEi 4 104, 182, 615
2 = & 1,000 162,400 161,400 | 16240
1 m&Es
T B OB 1,000
I AN ¥ #E 162,400
4 Tk %H 161,400
1% A 2253 16240
TN 4 162, 400
NGB F S N 4 155, 400
BB X 720 Z BB B 45N de 445 7, 000
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H T H OB O X A % # b 5 %‘Emﬂy)\%
i A 75 1 G2
%2 T EFRIXTEAR T
1 % B XK E & F T 3,000 0 3,000 0
M. %
1 HARFEEHF
T B OH 3,000
v AN % # 0
o W %8 3,000
1% A 2253 0
AR AT A TEER]F- 2 v o 72 2 LI X BRI
%3 W BfEITRUA
EREEARESEREEEE S
L s e =R A 470,000 51,000 419,000 10.9
1 EREBERERRSEEREEESENERES
Y B OBl # 470,000
1) NG - S 51,000
4 W A419,000
12 A =R 10.9
E R R AR EARERE RS SR L OHERE&EBM LRI L D
R RER A B A A AR 4 51, 000
[114]
FREEREBRHEERE &
2 e xR A 330,000 10,000 /320,000 3.0
1 ERBERREEBESEHERES
Y H OBl # 330,000
1) NS - S 10,000
4 W /320,000
1% A =R 3.0
E R R AR EARERE RS SR L OHERE&EBM LRI L D
HPEE & 4 BT 4R 4 10, 000
[114]
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H T H OB O X A % # b 5 #H A=
%
i Y A 75 1 G2
3 AXELEEME LA LA 1,265,000 1,523,180 258,180 120.4
M. %
1 £ ELENERES
Y H Bl # 1,212,000
1) NS - S 1,428,746
it 54 | 216,746
1z A =R 117.9
A3 AT SBNT L DB ER S 1, 428, 746
[2531F]
2 HEEEFFILA
T B OB % 53,000
11O NG - S 94,434
4 A 41,434
1% A =R 178.2
A3 AN L DB ERIF I 94, 434
[83fF]
4 JRAENDE SNSRI A 16,240,000 11,431,448 /A\4,808,552 70.4
1 BARNMNOEBELZEMERES
T B OB # 16,240,000
I AN ¥ #E 11,431,448
H Tk %H 4,808,552
1% A 2253 70.4
AU O & A RPN X DB A GE 4 11, 431, 448
[2, 01214]
B R Sa B 4
5 %g {ﬁﬁL E; ljﬁfF éﬁ ﬁﬁgfg ji 555,000 421,731 133,269 76.0
1 BEEEREFERESEMFEEES
Y H Bl # 555,000
1) NG - S 421,731
4 Wk A133,269
1z A =R 76.0
R R SR YR B RPN K DB &R 4 421,731
[73fF]
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H T H OH M S N H®oow % . MA%
i I A & 1 B
6 AR AEE &S T4 ST RN 20,669,000 21,501,548 832,548 104.0
M. %
1 ZHENHESENERES
Y H Bl # 20,631,000
1) NS - S 21,421,948
14 B s 790,948
1z A =R 103.8
LMAEAEE & BB K B B4R 4 21, 421, 948
[2, 8231F]
2 THRBUESHFILA
T B OB % 38,000
11O NG - S 79,600
o4 Pk #H 41,600
1% A =R 209.5
LVERENEE B I X B G R TIN 79, 600
[861F]
7@%@ﬁg%ﬁﬁ$% 7,448,000 7,918,210 470,210  106.3
1 BRERLUVEEEARESEMNESRES
Y & OB % 7,448,000
I AN ¥ #E 7,918,210
4 B s 470,210
1% A 2253 106.3
B LWL REER O ABEE SO BT ICBET &ML 5
BT AR 4 7,918, 210
[70074]
8 FEMEETESBEMESRES 75,000 0 75,000 0
1 BEMFEFXESENERES
T B OB 75,000
I AN ¥ #E 0
4 B s A75,000
1z A R 0

BBMN 2o T2 2 ST LB RINA
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H T H OH M S N O %sﬁmuy)\%
i g A # HE B
+ oM B A AT A E AN A
9 il W )\ 970,376,000 970,376,722 722 100.0
M. %
1 THRAENTESEFERES
Y H Bl # 970,376,000
% ¥ 1,119,479,000
WoOE A 149,103,000
11O NG/ - S 970,376,722
4 Pk #H 722
1% A =R 100.0
THIBIRAERE SO ST ICET 2 B L2 EAESEMN4
I35 4 970, 376, 722
XKEZBEHEEFEHELSEE S
0 & h o w W A 1,000 0 1,000 0
1 tXHPRREEEEXEESESEMNERES
T B OB 1,000
v AN % # 0
4 B s A1,000
A =E 0
B EfFE
o4 TH ZRLEENA
1 % f/fm A & % A 89,037,000 96,562,769 7,525,769 108.5
1 FHEREZERA
Y H OBl # 65,176,000
% ¥ 42,588,000
woIE 22,588,000
1) NG - S 53,760,554
4 B A A11,415,446
1% A =R 82.5
Did L N S e Y N ey 53, 760, 554
[ShiE1% 7, 4330A]]
2 BFEEZEREARZIERA
T B OB % 1,000
1) NG - S 18,876,605
b= - A | 18,875,605
)7} A 24 1887660.5
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H T H OH M S N o oW #E uy)\?/ﬁ
i g A # HE B
M. %
BET-AEIE S RE R AP S2 REIA 18, 876, 605
[21H5]
3 EEEEHEERTS
T B OB # 23,860,000
I AN ¥ #E 23,925,610
pet Tk %H 65,610
1% A 2253 100.3
i ORGSR &I T B O — R RS R e 23,925,610
2+ K B =% FE I A 508,740,000 500,158,069 8,581,931 98.3
1 fES<CERERE
T B OB # 506,632,000
W ) 460,950,000
wWoOE 45,682,000
I A ¥ # 493,350,576
4 B A A\13,281,424
% A B 97.4
< EKEIRE 493, 350, 576
H &5 H 157, 728, 295
AL T 153, 128, 428
S T8 4,599, 867
ZREE A 335, 622, 281
AL T 19, 073, 607
RS T 412,239
TOKIEfE R 5 316, 136, 435
2 NETKERRKEE
T B OH 2,108,000
I AN ¥ #E 6,807,493
4 B A 4,699,493
1% A 2253 322.9
NP AKERERFEDOZ LA 6, 807, 493
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H T H OH M S N o oW #E MA%
i I A & HE B
3 L HEEEZFENA 83,124,000 79,680,110 A\3,443,890 95.9
M. %
1 REMZEWRA
Y H Bl # 83,124,000
1) NS - S 79,680,110
b= - A | A\3,443,890
1z A =R 95.9
XA D ORI T3 5 2 79, 680, 110
[#E1, 013 A\]
%05 IH IR EENA
1 B B O & B 5 4 500,000,000 500,000,000 0 100
1 REHARSE
Y H OBl # 500,000,000
1) NG - S 500,000,000
4 B A 0
1% A =R 100
R Xt RS AL B 0 4 500, 000, 000
%6 TH MEA
1w W AL 2y # 2,241,000 0 A2,241,000 0
1 #FWang
T R OB # 2,241,000
I AN ¥ #E 0
4 B A A\2,241,000
1% A 2253 0

INTERIR N2 v o 12 2 LI L BRI
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H T H OB O X A % # b 5 b HX)\?/E
i g A HE o
2 A 18 4 278,159,000 341,188,269 63,029,269 122.7
M. %
1 EBFES
S W 59,000
1) NS - S 40,400
4 W 18,600
1z A =R 68.5
FEFRIE 4 40, 400
JRENEAT B R B S 4 40, 400
[20214]
2 hERBIMASEXIERTE
T B OB # 100,000
I AN ¥ #E 4,248
4 B s A\95,752
1% A 2253 4.2
P E 7 B RN R A B R E 4 4,248
[114]
3 KEEREE
T B OB # 278,000,000
I AN ¥ #E 341,143,621
4 B A 63,143,621
1% A 2253 122.7
I RGEEFMES 341, 143, 621
[11, 31874]
3 BN A B X OEMFE 4,000 532,232 528,232 | 13305.8
1 £¥&5%
T B OB % 1,000
I A % % 0
4 W 1,000
l1)"g A 24 0
BB
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H T H OB O X A % # b 5 %‘Emﬂy)\%
i Y A 75 1 B2
F. %
2 IhE/NOESR
T B OB % 1,000
11O NG - S 204,000
4 Wk 203,000
1% A R 20400
JRVINO S A SRR 4 204, 000
[391F]
3 LB uES
T B OB % 1,000
1) NG - S 328,232
4 W 327,232
)7} A 24 32823.2
L MEAEAEE 4B R 4 328, 232
[514]
4 ERESLUVESEARES
T B OB % 1,000
I A % # 0
wooE # A1,000
[N 0
BB
4 W g A 3,345,000 3,329,950 15,050 99.6
1 #HEBUHEEREIRA
¥ B OB 4 3,345,000
E ) 4,154,000
woIE 809,000
1) NG - S 3,329,950
o oW % A15,050
1% A =R 99.6
e tEak sk BRI 3, 329, 950
AN BB AL 1, 739, 400
[%E2, 676 \]
IR 2 ] WT A ke 1, 590, 550
[%E2, 447 \]
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H T OB OB O X A % # b 5 #H HX)\?/E
i Y A 75 1 B2
W 5 4 448,666,000 448,821,975 155,975 100.0
M. %
1 BEREH
Y H Bl # 95,960,000
i) 101,326,000
woIE 5,366,000
11O NG/ - S 96,211,186
4 B A 251,186
1% A =R 100.3
R ORHE AN & H 4 96,211, 186
2 ERRER
T B OB # 20,307,000
W 17,007,000
wWoOE 3,300,000
I A ¥ # 20,199,120
4 Tk %A 107,880
% A x 99.5
TE FCRBRosHIE N B4 20, 199, 120
3 BEEEERKRH
Y H Bl # 321,559,000
i) 389,139,000
mwWoIE 67,580,000
1) NG/ - S 321,544,509
HA 54 #H A 14,491
1% A =R 100.0
JEA A DR BROBHE N A 4H 4 321, 544, 509
4 NERRH
T B OB # 10,840,000
W 18,535,000
wWoOIE A7,695,000
I A ¥ # 10,867,160
4 Tk %A 27,160
% A x 100.3
I EIRBREHE N B4 10, 867, 160
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H T OB OB O X A % # b 5 #H A=
%
i Y A 75 1 B2
6 A—L~LFH—E RAHEEIA 2,000 0 A2,000 0
M. %
1 IR—LANILTH—EREBZERA
T B OB % 2,000
I A % % 0
4 B A A2,000
w A R 0
FIFEI O LM L 2 R IA
T M A 2,593,015,000 2,617,290,712 24,275,712 100.9
1 FAAEEH
Y H OBl # 267,000
1) NG - S 246,778
4 W N20,222
12 A =R 92.4
FLAHEEERE 246, 778
2 NREEH
T B OB # 240,000
I AN ¥ #E 196,600
4 Tk %A 43,400
1% A 2253 81.9
IANHEFER 196, 600
3 BRFTEUNA
Y H OBl # 576,305,000
i) 276,305,000
woIE 300,000,000
1) NG - S 608,794,185
4 B A 32,489,185
1% A =R 105.6
IR RN 608, 794, 185
4 NOYq4oov RELLER AR
T B OB # 53,400,000
W 51,065,000
wWoOIE 2,335,000
I A ¥ # 53,400,121
4 B A 121
% A x 100.0
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H T OB OB O X A % # b 5 %‘Emﬂy)\%
i Y A 75 1 B2
F. %
Ny g oYy o AREL UK TR A4 53, 400, 121

5 BIXEHRHEE

T OB O
E)
fIE

1,303,943,000
1,375,526,000
A71,583,000
A % # 1,273,305,950
Moo 30,637,050
1% A 3R 97.7

ERSE73 AR

H A B AL E T
[#E441 N ]
M7= < Y EAEEERT
[#E736 A ]
E a1
[#E348 A ]
AL BT RS AR 2 P
[#E327 A\ ]
IR T 4 Al
[#E631 A ]
KN Ak
[#E592 A ]
BT 48 ik
[4E386 A ]
JEH FA Ak
[#E438 A ]
A e I A Ak [
[#E344 N ]
RS 2 [ T A Ak [
[4E698 A ]
B AR AL
[#E367 A ]
DEEEEEAE 2 —
[4E295 A\ ]
L 5wy
[#E821 A ]
KR->-UIE
[#E3AN]
L EEL IR ATE R X —
[#E226 A ]
JEAS F b B AR TS SR v —
[#E185 A ]
AR AR R 2 —
[#E249 A\ ]
KIREEE A TE T v % —
[#E236 A ]
CEbLREIEE X —
[4E7, 279N ]
K7LV R
[5E360.A]

1,273, 305, 950
60, 973, 596

84, 035, 792

27,887, 158

39, 824, 793

165,931,914

137, 147, 842

104, 099, 922

113, 286, 234

88,872, 454

152, 776, 590

83,657, 150

34, 500, 548

44,127, 525

107, 544

3, 646, 222

2,851,624

3, 846, 532

3,981, 222

95, 666, 119

26, 085, 169
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i Y A 75 1 B2
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6 ANEREHEEFHIRE
Y B OBl # 11,245,000
11O NG - S 8,991,000
b= - A | A\2,254,000
1% A R 80.0
INEREREY = T BB A 8,991, 000
INEREREY T E B R 8,991, 000
SRR R 5, 230, 000
AR S 1, 999, 000
HEDAESFES 1, 762, 000
1 FELREEES—ERARXAEES
¥ & #H o 2,056,000
1 N - | 1,647,900
4 Tk %A 408,100
1% A 2253 80.2
T EUREAEES—EARNAHMSE 1, 647, 900
[#E50114:]
8 BHESRIESEEEELILA
T B OB 1,000
v AN % # 0
4 Tk %A A1,000
1% A 2253 0
B EfFE
9 AEYRFE-EBERBEHFILETOD Y FBIRE
¥ & ¥ oz 1,000,000
1) NG - S 1,000,000
4 B A 0
12 A =R 100
B EY HR IR EBAIE 0 Y = 7 B 1, 000, 000
TagA T F v I EEE 1, 000, 000
10 RFTEEERAETEERE
Y H OBl # 504,000
1) NS - S 504,000
4 B #E 0
1z A E 100
PERTEEE AEEIE 504, 000
AT 252, 000
[3E842:]
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%
i g A # HE B
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